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Question Number : 1 Question Id : 70819117224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :

70819156821, 1-33%

70819156822, 1-03%

e
70819156823, 1-13%

.
70819156824, 1-30%

Question Number : 1 Question Id : 70819117224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819156821, 1-33%

70819156822, 1-03%

70819156823, 1-13%

o,
70819156824. 1.30%

Question Number : 2 Question Id : 70819117225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
A particle is projected with velocity v, along v-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= —ax?. The
distance at which the particle stops :
Options :
1
.21:'.[% 2
{ 3a

70819156825.



3{!,[?]

e
P | =

( 2o
70819156826.

3!'3-
2a
70819156827.

1

ZI?ﬂ 3
3o
70819156828.

Question Number : 2 Question Id : 70819117225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819156825.
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70819156827. (

70819156828.

Question Number : 3 Question Id : 70819117226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A circular hole of radius (—J is cut out of a circular disc of radius ‘a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘O’ will be :

A Y-axis

Options :

i
—a
70819156829, ©

5
—a
70819156830, ©



70819156831,

10
—a

70819156832, 11

Question Number : 3 Question Id : 70819117226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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A Y-axis

Options :

1
—a
70819156829, ©

5
—a
70819156830, ©



70819156831.

70819156832, 11

Question Number : 4 Question Id : 70819117227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM
[Use ¢ = R 9.8 ms ~Z and radius of earth, R = 6400 km.]

Options :
70819156833, -1/ N

70819156834. e

70819156835. 4883 N

70819156836. 95 N

Question Number : 4 Question Id : 70819117227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819156833. LN

70819156834. o

70819156835. 4583 N

70819156836. IR

Question Number : 5 Question Id : 70819117228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



[f one mole of an ideal gas at (P,, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT[an : ]
2(y—1)

RT
2(y—1)

70819156837.

70819156838.

70819156839, RTIn 2

70819156840. 0

Question Number : 5 Question Id : 70819117228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
| 1
RT | In2
2v-1)
70819156837.
RT
70819156838, Y "V

70819156839, RTIn 2

70819156840. 0

Question Number : 6 Question Id : 70819117229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
On the basis of kinetic theory of gases, the gas exerts pressure because its molecules :
Options :

70819156841 contmunusi}-' lose their energy 11l it reaches wall.

70819156842 continuously stick to the walls of container.

are alttracted by the walls of container.
70819156843. .

70819156344 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819117229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819117230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

70819156845.

70819156846.

70819156847.

70819156848.

1 k

E\‘ Mg sina

1 2k

2w\ Mg sina

1 [k

27 Y M

1 [ k

2w VoM

Question Number : 7 Question Id
Correct Marks : 4 Wrong Marks : 1

: 70819117230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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Options :

70819156845.

70819156846.

70819156847.

70819156848.

1 k
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1 2k

27\ M o sina
1 |12k
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27 V2M

Question Number : 8 Question Id

: 70819117231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819156849, circular

eﬂipticai
70819156850.

parabolic
70819156851.

straight line
70819156852.

Question Number : 8 Question Id : 70819117231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819156849, -

70819156850, 6T G

70819156851, W/ eHElETILD
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Question Number : 9 Question Id : 70819117232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following equations represents a travelling wave ?

Options :

— A " l
70819156853, V= Aercos(wt —0)

' 2

i P I8
70819156854, Y= ¢ (V1+0)

— 7 u -j,
70819156855, ¥ = Asin(15x —21)
70819156856 ¥ Asiny coswl

Question Number : 9 Question Id : 70819117232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819156853.
' 2
o R e
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Question Number : 10 Question Id : 70819117233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

2
Al
2meg md>
70819156857.

70819156858.

TEQ md”> |2
2:}2
70819156859.

1
2meg md> |2
qE
70819156860.

Question Number : 10 Question Id : 70819117233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



G cra&lgrenger 24 Clgrenaaelldd Blmds0 ol Heterar. aww e afl udld
eneUESELILIL L 6 eoenmreud Wlem senwowimer LGrmLmer seuell(m Wlem &ennsener
LanansEh GCarligheé teti@ssns, x eearn b dflsere) @LbmHmbd (x << d)
<ienLbglereng) erafld, yCrmiLnen erbs Camean 2idlibleuesr wdlliyL e safl#ffleans
@lwssb Guoblamer(enib ?

(m = Wensen bl sreanr Hisatlen blanm)

Options :

1
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ey md
70819156857.
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70819156859. (

1
2meg md> |2
qz
70819156860.

Question Number : 11 Question Id : 70819117234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S’ is closed will be :

i
2 R
+ T R § L
1
E=9 V] .
R
R
Options :
70819156861, =22 A
70819156862, >0 A
70819156863, 7 A

70819156864, 2 A

Question Number : 11 Question Id : 70819117234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819156861. 225 A

70819156862, -0 A

70819156863. ot

70819156864, 7 A

Question Number : 12 Question Id : 70819117235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft ferromagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819156865 increase in size but no change in orientation.



70819156866. decrease in size and changes orientation.

70819156867, May increase or decrease in size and change its orientation.

70819156868, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819117235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819117236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819156869, @F (Vi) (B)-(v), ()-(1), (d)-(iv)

70819156870. (a)-(vi), (b)-(iv), (c)-(1), (d)-(v)
70819156871, (@), (B)-(iv), ()-(1), (d)-(iii)

70819156872, (@)-(ii), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819117236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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(v) Geerr (LASER)
(vi) RC &mm)
Esaranb efenLsefled #flwren eflenenws Caiey Claws.
Options :
70819156869, @ (VD) (B)(v), (c}-(D), (d)-(iv)

70819156870, @)-(vi), (b)-(iv), (c)-(i), (d)-(v)
70819156871, (@) (i), (b)-(iv), (c)-(1), (d)-(iii)

70819156872, (@)-(i1), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 14 Question Id : 70819117237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the source of light used in a Young’s double slit experiment is changed from red to violet :
Options :

70819156873, e fringes will become brighter.



70819156874 consecutive fringe lines will come closer.

70819156875. the intensity of minima will increase.

70819156876, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819117237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819117238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An K-ra}-' tube is r:rperate::l at 1.24 million volt. The shortest waveiength of the pmduced
photon will be :

Options :

1
70819156877, 107~ nm



2
70819156878, 10 -~ nm

3
70819156879, 107~ nm

4
70819156880, 10 ° nm

Question Number : 15 Question Id : 70819117238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1
70819156877, 107~ nm

2
70819156878, 10 - nm

3
70819156879, 10~ nm

4
70819156880, 10" nm

Question Number : 16 Question Id : 70819117239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Broglir_- Wavr_-lc-ngﬂ\ of a proton and u-particle are r_-qual. The ratio of their velocities
15 :

Options :
70819156881, +:1



70819156882, +*2

70819156883, 43

70819156884, 14

Question Number : 16 Question Id : 70819117239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819156881, ++1

70819156882.

70819156883, 43

70819156884, 1 :4

Question Number : 17 Question Id : 70819117240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum ?
Options :

70819156885, N=2 to n=1



70819156886, M=13 ton=2

70819156887, N~ lon=3

70819156888, > o n=4

Question Number : 17 Question Id : 70819117240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

=9 & GVmA el
70819156885, M= 2~ &b n=1

= ’.I". K\r II
70819156886, = Bl (b
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70819156887, D @(BH& n

70819156888.

Question Number : 18 Question Id : 70819117241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p — 1 junction having p and n both :
Options :
70819156889, lightly doped and have narrow depletion layer.



70819156890, Lightly doped and have wide depletion layer.

70819156891, heavily doped and have narrow depletion layer.

heawvily dnped and have wide deplet:icrn laver.
70819156892. i )

Question Number : 18 Question Id : 70819117241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 70819117242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement Il :  In the study of transistor, the amplification factor § indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.
Options :
70819156893, both Statement I and Statement 11 are true

70819156894, Both Statement I and Statement 1l are false

70819156895, Statement 1 is true but Statement 11 is false

70819156896. Statement 1 is false but Statement Il is true

Question Number : 19 Question Id : 70819117242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
For Il I nmmw Smmy I #lwuretena.
70819156893, oDl LD Dy 11 &1

Fgamml 1 womn Fanm Il sflurearame =jde.
70819156804, DDl 1 DD EDDI 55 0 2

gamml | sflwreng perma Fgmnml I Fflunard oie.
70819156895, TDDI 1 eDlumens) < Doy Il sfluneng <

gamm 1 sflwuneng e parmed gapm I #flwumerg.
J0819156896, DI 1 S b Do) 11 &1 &)

Question Number : 20 Question Id : 70819117243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A

>o——o0 C
B

The logic circuit shown above is equivalent to :

Options :

‘=D
C
70819156897. B

70819156898.

k=

i
1T

70819156899.




A -
Zj>o_m-_
B

Question Number : 20 Question Id : 70819117243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819156900.

A

>o0—o0 C
B

-

CwGer Cemhssuul(Herer STE%5EF &SDMN THDHF FOWMeg ?
Options :

A o———

70819156897. B )

Ao—>0— )
J0—0 C
70819156898. B

Aol o
70819156899, B °

Y

@ >
M

70819156900.

Physics Section B
Section Id : 708191689



Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191969
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819117244 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Two solids A and B of mass 1 kg and 2 kg respectively are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of

A will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 21 Question Id : 70819117244 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

= e o . n = . o P N s N = s M g ; ’
wpepCGw 1kg whmb 2 kg Blenpwenw @@ Sl Qummlgsear A wHmib B pdlwer
F0 et CriCsrl(h 2 hsssLen Caddlerpear. eunhler @ués opbhmasaflen

A

ailfls wliy (KE), : (KE)g, & erefled, A -enm wllLimend <D (FHLD.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 22 Question Id : 70819117245 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The

elongation, if its length and diameter is doubled and subjected to the same force will be
cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819117245 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e, GRICHETL_(MN elensullermed, em SFomenr o Camsd S04 004 m S HAwen._ S may.
L) bu WO 3l o !
2Gs eflens Aewau@bn Cung, sblWuler herd wHmb el b @@F WLAIsETEH

L

plLme, goun bl Huller =erey cm Y& L.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819117246 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.
The moment of inertia about an axis passing through the centre of mass and perpendicular
to the plane of hexagon is X110 T kg m".

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819117246 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Blenm 6 kg whmibd Herb 2.4 m Qaraw g Fymer Gwadlu LD @@ FLUSS
M Carangams o (haund@Gb Gumml(h cumardsiuBdng. Blep awwid
auflurs whmb snrGsrarsdar sarsdne Cebigsisnaes Cenab &Famel
Qummsg, gear Blenaw &muusd e x10 "1 kg m? oy,&Lb.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819117247 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms ~ . The root mean square speed of molecules of the gas at 127°C and

2 atmosphere pressure is % ms 1. The value of x will be
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819117247 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1 cwafloawre SywsHsn wHnw 27°C Geulublawula, Carhsésuul(hdarar Blanm
2 LW (F UMy fpaddsmmsailesa @mwuape srrefls HasGeusd 200 ms™ !

2 cuatlemr_a Si(PSH5D wHmbd 127°C @@uﬁl_-{lji]at}euﬂat SDIGUGLML pLPELE Fo )& 66l

@ mwigepe FyrEfls SensCGeusid % ms~! g @0 erefld, x-er iy
(&LD.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 25 Question Id : 70819117248 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each

other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819117248 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
@ rew(h cargdlser 7.2 km/hr. erenim CeussH gL e emenn eeimml Glb (hkiE Sl mer. arijdl

@L(NBI&ET e(Reuan] e@(heu] Umidseyei, @ mel(hh 676 Hz oidljGleusamr Glamar

galenw g@allureafallmba erwlydlarpeary. @@ @l Obpisarmayn GslsiulL
efll bned <=4l Cleuetor sai Hz =y, Wb.
[srhiler eedllen SHlensCGaisd 340 m/s]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819117249 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



A point charge of +12 uC is at a distance 6 cm vertically above the centre of a square of side

12 cm as shown in fi%urc-. The magnitude of the electric flux through the square will be
% 10° Nm*/C.

+q

>
%

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819117249 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



uLsdled smligwenmm, 12 cm udsperLw e Fgr5den ewwwsHnE CuwGa

(
QeniEssns 6 cm gmssla, g +12 pC ydrefl Wengeanin o arerg). sgndslen eudlGuws
CFaoebd Weryol umusdler ierey % 10° Nm?/C oy,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 27 Question Id : 70819117250 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A cylindrical wire of radius 0.5 mm and conductivity 5 x 107 S/m is subjected to an electric
field of 10 mV/ m. The expected value of current in the wire will be x’w mA. The value of x
is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 27 Question Id : 70819117250 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

F & - % F : = - 5 : x ~
05 mm b wHnb s gHdHner 5x10°S/m CsmawTL @(F 2 (FeneTellgald &L
10 mV/m ereitp WlemyasdnEg o ubhssiubdng. ss00l%ar au@lGu umyb
WBlenmrGenrm_ L b 23w mA erefléd, x-eir wdl iy <24, (& LD.

e

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819117251 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency w,=10° rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is (1.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819117251 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



eF Gerflenenriiy LCR &hml wy=10° rad/s etartm Camenr = $l70leuameanflé) és5dlTal

ghuHSH LN San&siubdng. absdieiler Cung, 120 Caura Hmem epesdled

@mbg 16 eurl HApeners Gumdng. FeaHdle 2 drer Wergen ‘R’ -am wdHlliy
Q0 =25 W.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819117252 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
x10~2 cm.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819117252 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ceup il Lsdlen plueamw Wer anwd SHmper 2.25 Larewre ¢f Wersmly
oan._ssSlayer 3 GHz afliCleuan Casmaml g Wersnhs ame Heanpdng. =ibs
oanl g&5H, b Wenasnhs samauler seneaberd x10 "2 cm DY (HLD.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819117253 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

3
[Gain in dB=10 Iogm[ﬁ ]
Fi
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819117253 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



P =1 G "y ) e~ . = AT ey ey g ; 1 1 T G . i . '\.'. F
e(h S0 auL sflar auflGuw, 0.1 kW engens LruLLu(pEng). sbibeu gdlenm cugpalplig

5 dB/km whmid Herbd 20 km @b, gollda gnsiubn Hper 10 eurl(h&sen

eTeulley, X -6l LL‘IQ)]I_I_ — S (HLWD.

- P \'I
[dB Glumés eramr =10 log,,| —= ]]
B )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

51t05.001

Chemistry Section A
Section Id : 708191690
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191970
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819117254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



According to Bohr's atomic theory :

2
(A) Kinetic energy of electron is o Z_

112

(B) The product of velocity (v) of electron and principal quantum number (n),
‘v x 72,

3
(C) Frequency of revolution of electron in an orbit is = Z_,i
n

3

(D) Coulombic force of attraction on the electron is = —-
n

Choose the most appropriate answer from the options given below :
Options :
70819156911, (4) (€) and (D) only

70819156912, (A4) and (D) only

70819156913, (©) only

70819156914, (44 only

Question Number : 31 Question Id : 70819117254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Gunflen an&dtandensl Ul
ZZ
(A) eeslgrafler @W&Es Hme = =
(B) ereslprefler HlensCGeusbd (v) LOHML (PHeTenDd FHeumewrT LD eredwrenflen (n)
pFweundler Cumésstsrans ‘vl « Z2,
3

(C) NI iged sHwermeHbd eTend _greflen <iHlileu e o« %

(D) erewslgren Bgner smenolls rily alens o g

tﬁ(ﬁy Qerhésul_Rearer sreysaila @ mbs, Wsab GlunmEswresT 6L enw
CsThosH&sea L.

Options :

70819156911, A (€) LODIL (D) (o

20819156912, () LLOOID (D) LGB

o
70819156913, (©) LB

s
70819156914, (A) LB

Question Number : 32 Question Id : 70819117255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I 11 bond angles respectively in I; ion are :
Options :



70819156915, Linear; 180"

70819156016, istorted trigonal planar; 135" and 90¢

70819156917, 1-shaped; 180° and 90°

20819156018, | Figonal planar; 120

Question Number : 32 Question Id : 70819117255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I, eweflulenr sflwuner enwliy wHmib I-1-1 Csnemmiiser pennGu
Options :
70819156915, “BISEHM(); 1807

70819156916 RUOEISDD FoFer (Lp&GETenTD; 1357 wHmib 90°

70819156917, L - <enuiny; 180° opmio 90°

70819156018, T80T (p&losmentLo; 120

Question Number : 33 Question Id : 70819117256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Most suitable salt which can be used for efficient clotting of blood will be :
Options :

NaHCO,
70819156919. :



70819156920, M8HCO3)2

70819156921, FeCla

70819156922, 104

Question Number : 33 Question Id : 70819117256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Epssam_aimhbla @rssbd 2 eanmgenad Hnliuns ghubssd Weseb Gummssiwomer
D nm TS & ~ DU S5 4 (had
o LI oTg ?
Options :

NaHCO;4
70819156919, :

70819156920, MBHCO3)2

70819156921, FeCl3

70819156922, 16201

Question Number : 34 Question Id : 70819117257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point
IS :

Options :

70819156923, HCl > LiF ; MgO > NaCl



70819156924, LiF > LiCl; MgO > NaCl

70819156925, LCl > LiF ; NaCl > MgO

LiF > LiCl ; NaCl > MgO
70819156926.

Question Number : 34 Question Id : 70819117257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Gy @PludL LUl Rararaupiled by @eaean Seunblar o mEGHoomu sfluns
Casmfuubssdng ?
Options :
70819156923, ¢l > LiF ; MgO > NaCl

70819156924, LiF > LiCl; MgO > NaCl

20819156925, LCl > LiF ; NaCl > MgO

LiF > LiCl ; NaCl > MgO
70819156926.

Question Number : 35 Question Id : 70819117258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I with List - IL

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i)  Siderite
(b) Iron (ii) Calamine
(c) Copper (iif) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :
Options :

70819156927, (@)r-(1), (b)-(ii), (c)~(iii), (d}-(iv)

70819156928, (@)F(1v), (b)-(iit), (c)-(ii), (d)-(i)

70819156929, (@)-(i), (b)-(iv), (c)-(1), (d)-(iii)

70819156930, (@)-(ii), (b)-(1), (c)-(iv), (d)-(ii)

Question Number : 35 Question Id : 70819117258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



an@ﬁl I -anwi G]g,n@ﬁl I1 - o | am @ungrﬁ;@&.

QFn@S - 1 Ggmn@d) - 11
EREEEANY (B8 &&er)
(a) =g dleflwb i) SHugengl
(b) @mby (i) smeenwen
() &moug (iii) sCwmeblenam_
(d) &H&5EM&D (iv) wmenens_

Epssan sreysatler @b sflumer allenLenwsd Csibels(Hssea|b.
Options :
70819156927, @)1, (b)-(ii), (c)-(iii), (d)-(iv)

70819156928, @)-(1v), (b)-(iii), (c)-(ii), (d)-(i)
70819156929, (@)-(i), (b)-(iv), (c)-(i), (d)-(iii)

70819156930, @) (H), (b)-(1), (c)-(iv), (d)-(ii)

Question Number : 36 Question Id : 70819117259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.

Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given
below :

Options :



70819156931, Both A and R are true and R is the correct explanation of A
70819156932, Both A and R are true but R is NOT the correct explanation of A

70819156933, A 18 true but R is false

70819156934, A\ 1 false but R is true

Question Number : 36 Question Id : 70819117259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

EC @inan() sapmisear darhiasiul (Herarer. gemm Smm A - erere|lb Wbl mmem
snyewoild R eremeyd @oluE LUl (Herensg).

Enﬂj@j A: sje_deaaflle WEdHwurs o drars saflwb QD L ITERGIT. <D4GTITED
9y CeueflLiu@gd /L CrrGumevi@wfle @& WBlEdHurs o drer eumy
<D EDED.

smrewd R 1 enaml_pspen Wlseylh eren Hanmbs Seafloib.

Cupserr smhnsafer 2igliuald Spssam_saupdle @mbs Wasayb &flwmer
eflenLenwis Caibls(HEseLb.

Options :

20819156931 A wpmib R sflwurenensy, R, A -eneu aflung ellend @dlng.
70819156932, A wpmibd R sflurerenal, opermed R, A -eneu #flung eflensd seflcene.
20819156933, X -&#fl 2permeéd R -geum).

70819156934, A ~Seum panmed R -&(fl.



Question Number : 37 Question Id : 70819117260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Maltch List - I with List - IL

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (iii) 780.0 nm
(d) CsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819156935, (@) (V). (b)-(ii), (c)-(iii), (d)-(i)

70819156936, (@)-(i1), (b)-(iv), (c)-(iii), (d)-(i)
70819156937, @)@, (B)-(iv), (c)-(ii), (d)-(ii)

70819156938, (@)-(11), (b)-(1), ()-(iv), (d)-(iii)

Question Number : 37 Question Id : 70819117260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Qgm@dl 1 -2 e Cgm@Edl I -anw Clummsss.

Czn@g - 1 QgnEd - 11
(=i (gt Blmgdletn ojemevBemid)
(a) LiCl (i) 455.5 nm
(b) NaCl (i) 670.8 nm
(c) RbCl (i) 780.0 nm
(d) GCsCl (iv) 589.2 nm

ShssaL sreyselled @mbs sflwren el amws CoiblsHdseab.
Options :
70819156935, @)r-(v), (b)-(ii), (c)-(iii), (d)-(i)

70819156936, (@)-(11), (b)-(iv), (€)-(iii), (d)-(i)
70819156937, @-), (0)-(iv), (c)-(i), (d)-(iii)

70819156938, @)-(i), (b)-(1), (c)-(iv), (d)-(iii)

Question Number : 38 Question Id : 70819117261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among the following is :
Options :
70819156939 VOS0O, is a reducing agent

70819156940, Ru»‘CIl'_1 is an oxidizing agent

70819156941, Cr,0; is an amphoteric oxide



Red colour of ruby is due to the presence of Co3+
70819156942, g

Question Number : 38 Question Id : 70819117261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Spssan_eaupile eflupn smbn erg ?
Options :
70819156939, VOO0 06 @H&S

s r i ) = ey e
70819156940, N4 RO 2ASevIglLemDD

Cr,Q, e FilluaL 2 &ensh
70819156941, — 23 FO TV e

“emldl” -llem Aeuliy BnsHinE srremtd dléd o drer Co’t.
70819156942, - BDSSD(S &) &

Question Number : 39 Question Id : 70819117262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the follnwf_ng elements with respect to their ::lc-nsit}-' 7

Options :

70819156943, < <Fe<Co<Cu<Zn

70819156944, Zn < Cr < Fe < Co < Cu

70819156945, Zn <Cu<Co<Fe<Cr

70819156946, Cr < Zn < Co < Cu < Fe



Question Number : 39 Question Id : 70819117262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Spssan euflenssafled, o1 dled o arar gatlbmsaflan oL isduller =g luen ulle
sflune srl_(Hdpa ?
Options :

70819156943, < <Fe<Co<Cu<Zn

70819156944, Zn < Cr < Fe < Co < Cu

70819156945, Zn <Cu<Co<Fe<Cr

70819156946, Cr < Zn < Co < Cu < Fe

Question Number : 40 Question Id : 70819117263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCl, ]::l o [ColC;0,4 )5 Ifi -

and MnO? ™ respectively are :
Options :
70819156947, +90, 0 and 1.73 BM

70819156948, O-92, 4.90 and 0 BM

70819156949, 282, 0 and 0 BM

70819156950, 90, 0 and 2.83 BM



Question Number : 40 Question Id : 70819117263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[FeCI4]2_, [CG{C2£?4j3]3_ LD H I LD Mn{f}i_ g dweander srhs Hmuys &Hoen
wHuyser (sH&PHH WLHGL Qurmssg erwwb wHUY) WanGw :

Options :

70819156947, +90, 0 wHmib 1.73 BM

70819156948, 222 490 wpmio 0 BM

70819156949, 282 0 oD 0 BM

4.90, 0 Hmb 2.83 BM
70819156950.

Question Number : 41 Question Id : 70819117264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement Il : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819156951 Dboth Statement I and Statement 11 are true

70819156952. Both Statement I and Statement 11 are false



Statement 1 is true but Statement 11 is false
70819156953.

Statement 1 is false but Statement Il is true
70819156954.

Question Number : 41 Question Id : 70819117264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@ e[ shmsar ECp AaEr@sEsiiul (Harerar :

gamm) 1 : "o uliCeudl opsellemer Caeneu’ (BOD) eremm jemeil (B wdliiy Bi
Bleavasaild aurupd o wflamsda o T eumpbeughaErar e (m
p&dwinrer &Hlui(.

amm) 11 : BOD -uWlleir 2 &b wdllL 6.5 ppm.

Copsar, smphmsefler ojguiuemLwlda, Spssar_aphad @ @mbs W&y
Glummssonan gerannd G&ih6ls[H ssab
Options :
70819156051, FDDI L ppid sapm 1 Grem(io sl
: L4 . g |
70819156952, DD 1 LOMID Sappy I Gramhid saum

20819156953, DD 156 =yemmed gamm| 11 seum.

70819156954, o-DMDI I saum penied Sapmy Il &l

Question Number : 42 Question Id : 70819117265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?

Options :
70819156955.
: - IE.H21‘~~]H2
70819156956.
70819156957.

CH,

N—CHjy

2

70819156958.

Question Number : 42 Question Id : 70819117265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Flngsanr_ GeTnrusatlar erger enLwGsrallub = Oy B - BILUSTD womn GFmig Wb
c — ol -

enanl rnéamshLen eallenamu(pss Bob Haram Fmnugsamssd SHD ?

O

Options :

70819156955.



CH,NH,
70819156956. @/

NH—CHs
70819156957. @/

CI—I3

70819156958.

Question Number : 43 Question Id : 70819117266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the [ nllowmg cnmpnunds is non-aromatic 7

]

70819156959, O

Options :

@

70819156960. €

70819156961. :



70819156962. I I I

Question Number : 43 Question Id : 70819117266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

é?@&a:eﬁf:n_ Garwr set o8 HGrrGily s Sermenn 'i-ﬂazlleifsn_g e ?

(]

70819156959. O

Options :

70819156960.

@

®
70819156961. :
70819156962. I I I

Question Number : 44 Question Id : 70819117267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following carbonyl compounds cannot be prepared by addition of water
on an alk}-'m:- in the presence of I—IgSD4 and HESD4 ?

Options :



O
|

70819156963, 13~ C—H
i
|
_Cc—-CH-CH
70819156964, 113~ € 2413

i

W
CH;—CH,—C—H

70819156965.

70819156966.

Question Number : 44 Question Id : 70819117267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

iyaﬁ:eﬁm_ ThE S&rroumenered GEFTLOWD, (M <60 ENS 6N 6 HgSD4 LD MM LD H25D4

peraflanaouier Bpenm sl (b ellenan Blspss swurflés @ueng ?

Options :
i
70819156963, 13~ C—H
0

[l
_C_CH-CH
70819156964, 1137 € 2=



T

2
CHy=CH;=E<H

70819156965.

70819156966.

Question Number : 45 Question Id : 70819117268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

i o Cl Cl
NDZ NDE NGE
(1) (i) (i) (iv)
Options :
70819156967, @¥) < (i) < (if) < (i

70819156968, (V) < (1) < (iii) < (ii)
(i) < (ii) < (iii) < (iv)

70819156969.

20819156970, V) < (1) < (i) < (i)



Question Number : 45 Question Id : 70819117268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SpssamL Gayomsdr, smeéseu] LSl (H eflenamnfe mRHu®L elleaner mH LM L e

sllwmen gm euflens

5 & & g

NO, NO,

(1) (ii) (iii) (iv)
Options :
70819156967, 1Y) < (i) < (i) < (i)
70819156968, (V) < (1) < (iii) < (ii)
70819156969, (1) < (1) < (iii) < (iv)

70819156970, (V) < (1) < (i) < (iii)

Question Number : 46 Question Id : 70819117269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



O

Which of the following reagent is suitable for the preparation of the product in the above
reaction ?

Options :

NaBH,
70819156971

=N

70819156972, V2 ~NH»/CH50Na
70819156973, T/ Ha

Red P +Cl,
70819156974

Question Number : 46 Question Id : 70819117269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

O

Cuhaea_ elenarenw flapss Shaar ehs elaarsrentl Wlseayb Gummgsworeang ?

Options :



NaBH,
70819156971.

@
70819156972, VH2 ~NH,/CH50Na

70819156973, W/ H2

fsiiy P+Cl,
70819156974. =

Question Number : 47 Question Id : 70819117270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T

What is the correct sequence of reagents used for converting nitrobenzene into
m-dibromobenzene ?

.\]UIE Br

Br

Sn/HCI / KBr / Br, / Ht

P o - -
NaNO, / HCl / KBr / H*

: o - -

Options :

70819156975.

70819156976.



Sn/HCI / /“\I&NDZ NaBr
—l"- —_— = —

70819156977.

Br,/Fe F/Snﬂ 1L'lh/ NaNO,/HCI ;/CuBr,’HBr e
70819156978.

Question Number : 47 Question Id : 70819117270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

enpl_Gor Cuenfenear, m -enLyGrrGonr Cuendearms wrHns Cseameuin(b allenar
srewflaaflen sflwrer auflens ergy ?
NO, Br
- o - -
Br
Options :

5n/HCI / KBr / Brp / H*
o - - t

70819156975
NaNO, / HCl / KBr / H*
. : e e

70819156976.
Sn/HCI

/ ‘\JaNDE NaBr
—h‘- —_— =
70819156977.



Br,/Fe F/Snﬂ 1(_1"/ NaNO,/HClI ;/CuBr,fHBr e
70819156978.

Question Number : 48 Question Id : 70819117271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In polymer Buna-5 : °S’ stands for :
Options :

70819156979, SWlphur

70819156980, otrength

70819156981, Styrene

70819156982. SLllp}mnatmn

Question Number : 48 Question Id : 70819117271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Apenm -S veuiguiled o drar ‘S eTengs GOIEH DS ?
Options :
70819156979, =Y

70819156980, e EnLD

70819156981, @0En Ll



70819156982, &V eUMeell DHLD

Question Number : 49 Question Id : 70819117272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - 11.

List - 1 List - 11
(a) Valium (i)  Antifertility drug
(b)  Morphine (i) Pernicious anaemia
(c) Norethindrone (iii) Analgesic
(d) Vitamin By, (iv) Tranquilizer

Options :
70819156983, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

70819156984, (@)-(iv), (b)-(iii), (c)-(ii), (d)-(i)
70819156985, (@)-(1v), (b)-(ii), (c)-(1), (d)-(ii)
70819156986, (@)1}, (b)-(iv), (c)-(iii), (d)-(i)

Question Number : 49 Question Id : 70819117272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Clam@dl 1 whnn CgmE S - Il enw Clummiss.

AEICEIRS! ClgrEdl - 11
(a) Geuallwid (i) smESSML (KBS
(b) Wi Yem (i) Ersstsmams
() mrflgdlen Cymeir (iii)  cuablbleumy el
(d) eveulLflem -By, (iv) wenr epwHULHGS

Options :
70819156983, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

70819156984, (@)-(iv), (b)-(iii), (c)-(i1), (d)-(i)
70819156985, (@)-(1v), (b)-(iii), (c)-(i). (d)-(ii)
70819156986, @)(1), (b)-(iv), (c)-(iii), (d)-()

Question Number : 50 Question Id : 70819117273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Match List - I and List - IL
List - 1 List - 11

0
I
(a) R—C-Cl »R—CHO (i  Bry/NaOH

(b) R—CHQ—CDDH—rR—(l“_IJ—CDDIl (i) H,/Pd-BaSO,
cl

O
Il
(c) R—C—NH; —R—-NH; (i) Zn(Hg)/Conc. HCl1
O
I
(d) R—C-CH; - R—CH,—-CH, (v) C1,/Red P, H,0

Choose the correct answer from the options given below -

Options :
70819156987, (@)(1i), (b)-(iv), (c)-(1), (d)-(ii)

70819156988, (@)-(iii), (b)-(1), (c)-(iv), (d)-(i1)
70819156989, (@)-(i), (b)-(1), (c)-(iv), (d)-(iii)
70819156990, (@) (1), (b)-(v), (c)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819117273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



Camgdl - 1 whnn CgT@E - Il -aw Cunmsss.

Csnasl - 1 Qsn@dl - 11
O
Il
(A R—C-Cl—R-CHO (i  Br,/NaOH

(b) R—CH, - COOH —rR—{liH—CDDH (i) H,/Pd-BaSO,

el
O
I
(c) R—C—NH;—R-NH, (i) Zn(Hg)/=1Lj HC
o)
Il
(d) R—C—CH; -+ R—CH,—CH, (iv) Cl,/#euliy P, H,O

Epssam sre|saflcy @)mba gflunen allenLenwsd CsibblsHdseayb.
Options :
70819156987, (@)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

70819156988, (@)-(ii1), (B)-(), (c)-(iv), (d)-(ii)
70819156989, (@)-(1), (b)-(1), (c)-(iv), (d)-(iii)

20819156990, (@) (1), (B)-(iv), (c)-(1), (d)-(iii)

Chemistry Section B



Section Id : 708191691

Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191971
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819117274 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of Dz for
complete oxidation and produces 4 times its own volume of CO, is C H . The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 51 Question Id : 70819117274 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@ eumyblenewbler o erer sflwEGarwbd, ueawwns p&edlmGarhmnw e w

6 L kG0, Camauiudnagl. oLGung Coiosdler ser ojemeyLear ellbhHn GCurg
: By I . . R e i J e —~ B o LY

4 vLEE CO, flenLs&dps. e epa&sam  euml U CH, a et b,

Y -l D&l

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117275 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ ! mol ~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117275 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

50°C wmmib 740 mm Hg ‘__,.'fq(\':p{t_hg;;_h{@@t 475 g o8 gedlenm eumyellen &emsamey
I 4

(eflenL : =ymdled o arer (p(p eTammentled)

1

[Qarhéstul_(Hererg : R=0.0826 L atm K~ mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :
5to0 5.001

Question Number : 53 Question Id : 70819117276 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
xx10~ 1. The value of x is . (Integer answer)

3HC = CH = C¢Hg(

[Given : A /G°(HC=CH)= —2.04 X 10°] mol ™1 ; AG(CgHg)= —1.24 % 10° ] mol™1;
R=8314 ] K~1 mol 1] "

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819117276 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

E,Epéaa;mn_ allenan mebadlwebLy Blancvulled menL_Gum&m g erand ©l&mesrmed, 25°C -abled
@ cueilenamnden log K wéliiy xx10~1 @ik x -ér wdliy
(eflanL : y(méled 2 grer oy eramT WL (HLb)
SHC=CHy)—— CeHgp)
[ar@ésiul (Hereteney : AG (HC=CH)= —204x10°J mol ! ;
AG(CgHg) = —1.24 X 10° Jmol =1 ; R=8.314 JK ! mol 1]
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819117277 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;, in 200 g of C H,
freeze is __"C. (The molal freezing point depression constant of C ;H is
5.12°C/m.)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819117277 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

CgHg, 5.5°C -abléd aat:m@m9 erefled 10 g, CyH, -85 200 g C H, -0 sanpsg Glumlu L
smrsa o @b Geuliublane g B

(CH, -eir Gunmaned 2 anmblenas smpe| wmbledl 5.12°C/m)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 55 Question Id : 70819117278 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The solubility product of Pbl, is 8.0 % 10~ ?. The solubility of lead iodide in 0.1 molar solution
of lead nitrate is x x 10~® mol/L. The value of x is . (Rounded off to the nearest
integer)

|Given J2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819117278 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
PbL, -aflen sanydlper GlLimas0n 8.0 102

el CunmenLigen sengdlpen ¥ x10- 6 mol/L. @ mi@, x -er WSl

sreotien, 0.1 Gomany Gel enpl Gyl senygedlan

(eflenL : Sym&led o amar (p(p eremremfled)

[DamhE&stu’ L g : V2 =141]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :
5t05.001

Question Number : 56 Question Id : 70819117279 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



The magnitude of the change in oxidising power of the MnO}/Mn =t couple is xx 1071V,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

MnO, and Mn?" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
3 2303 RT
|:{_1'ivc:n : % = []_[159]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819117279 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

25°C -wlléb H* syweflllen Gladley 1M -adlppba 1074 M -8 Gennsslumin Gunag
[\-InDE;’h-Ir.Z“L @eemler osellnCarpp Speafld ghu@bh wrpur® xx10-4V.
@rE x -ar Wiy . (eflenL ymAled o erer (pp eremmenflead)

(smgs - HY syweafléd Qadley wrmd Gung MnO, whHmib Mn2* Qefleyser 2|Cs
ojarefled LMDMOE 2 drerg.)

['QEW'QEEEI‘JU U_(ReTamenau : 2.303RT

= {].{]59]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819117280 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of lcrgm[?} is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 57 Question Id : 70819117280 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

F&Crmen efleb (paraiameuld @ersCare whmb Wrs  CLnsras Brmd L@y
SenL Wb eflenar (F (PF euend ellenand FeTUM el Ul jenwdlng. 25°C
-ulléd eicueilenamuilen enyeump &reob 3.33h. 9h -Gryb eSlener BL ks er 2 arer

F&Grrélen ojerey [ ereiled Ingm[%] -6 &l x1072 . (ellenL 2imdled

2 &Tem (W(p eTemamiled) [HH&HS : In 10=2308, In 2=0.693]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117281 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism 1s _ D

(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117281 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

EpssanL gaouflar upGauhmenw egeimsafle unmprarbsssarenweany &rl(hb
LmGeaummentd eulg el biSertlen orentanll&ans

(A) - saum (B) P - &eoun (C) S,- ennlaLy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Question Number : 59 Question Id : 70819117282 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of amines among the following which can be synthesized by Gabriel

synthesis is
CH3z
CHj

CHy—NHj NH
© ©/ D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

CH—CHp—NH» B) CH,CH,NH,

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819117282 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

sruflwer Cam@Ellben epelb, igg&&e;:iﬂl_ gbensafley Cam@ss @uain bersafler
T cnoTent] & en &

CHsy
CH3

CHy—NH> NH>
© ©/ (D) ©/

Response Type : Numeric

(A) CH—CHy—NH; (B) CH,CH,NH,



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819117283 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durf_nﬁ
purification. Amount of acetanilide obtained after purification (in g) is =,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819117283 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1.86 g waflellen (pperwwns cilamarul(h AfALLalamaorns wrppluBdng.
sruemwUuubhsgbd Gurgy 10% aleerdummer @uasiu@dng erafla,
sruenwlu@ssuul L GpE Gupiul L fllcallaow@elear e (& gmsdle)

x 10

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5t05.001

Mathematics Section A

Section Id : 708191692
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191972
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819117284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= = = 9 is (20, b, —a—9), then |a+Db] is equal to :

! |
o

Options :
70819157001, 84

70819157002, 56

70819157003, 58

70819157004. 20



Question Number : 61 Question Id : 70819117284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. x—3 p—2 z—3 , e o : : .
a, beR erans. —— 5 = 9 eTanm (o&ML&nL LI Quﬂl’ﬁ&@] P (a, 6, 9) -em
7 Uy
gemrentmy oL (20, b, —a—9) erafléy, [a+b| -am w&lY

Options :
70819157001, 54

70819157002, 56

70819157003, 58

70819157004, 20

Question Number : 62 Question Id : 70819117285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, ¢ be in arithmetic progression. Let the centroid of the triangle with vertices

(a, c), (2, b) and (a, b) be (1?[], %J If a, B are the roots of the equation ax®+bx+1=0, then
the value of a2+ B2—ap is :
Options :
6
70819157005, 2°
7
256

70819157006.



69
70819157007. 256

7
70819157008. 26

Question Number : 62 Question Id : 70819117285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

=

e ‘Mé O A IR o |, i st iss i
a, b, c erauaT (M Sl (B ©lgmflem o mLiL&&er. L erairLigl (a, ¢), (2, b) LHMILD

(a, b) -&semer (penarly Udteflserras Caraml wpwé&Gasrangdlear Leudmiy enwwib.
o, B eranuan ax?+bx+1=0 eremugen epaniser erafled), o +p2—ap -6 WHLL :

Options :
69
70819157005, 220
a1
70819157006, 226
69
70819157007, 220
-
70819157008, 220

Question Number : 63 Question Id : 70819117286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

If P is a point on the parabola y=13+4 which is closest to the straight line y=4x —1, then
the co-ordinates of P are :

Options :

3. 13)

70819157009.

70819157010. (2 8)

(-2, 8)
70819157011.

70819157012, 1r 2)

Question Number : 63 Question Id : 70819117286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=4x -1 erenm CaEriigm@ Wlselh ewenouiler o erer P erenm yemafl y=x2+4 erenm
UreueneTwsEled 2 aTeng) erafled, P -ail <3, Wssam&ar
Options :
70819157009. 1)

70819157010. (2 8)

70819157011.

70819157012. (L 5)

Question Number : 64 Question Id : 70819117287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

For which of the following curves, the line x ﬁy = E\E is the tangent at the point

i3 1
SLA S S
2 " a]!
Options :
2 2__ry
+yi=
70819157013, ~ ¥ 7
2+ 9y3= 9
70819157014
el 1 1
yeor
70819157015. 6v3
2x%-18y*=9
70819157016.

Question Number : 64 Question Id : 70819117287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

M !

ED&EFEMTL GTHS 6UGHETEL N H (S, [ 5 E] eremm Uetaflufled euenpwliul L

QsrHCsTiger swetUT(® x+ 3y = 243 -8 @YD,

Options :
2 2__ry
+v2 =
70819157013, ©~ ¥ 7
249 y?- =9
70819157014



1
2_ —x
Yy =_.5"
70819157015. V3

2x2 — lﬁyz =0
70819157016.

Question Number : 65 Question Id : 70819117288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3
The value of the integral, j[:r2 2x —2|dx, where [x] denotes the greatest integer less than
1
or equal to x, is :

Options :

70819157017, °

70819157018, ~ 4
70819157019, V2 -3 -1
70819157020. V2 -3 41

Question Number : 65 Question Id : 70819117288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[x] ererugy x - el WlensluL s 2jeeg swwrer Wlsl Gu@mpp eremm erel e,

3

j[:c2 2x—2]dx erenmm GEFrensulleblem Lodliiy

1

Options :



70819157017,
70819157018, ~

70819157019. V2 -3 -1
70819157020. V2 - B +1

Question Number : 66 Question Id : 70819117289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819157021, ~ P4

70819157022, ~F

70819157023, © "4

70819157024, P/~ 4

Question Number : 66 Question Id : 70819117289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

~p A pPvq ) - Gt Lo m) L1 L|éF> H‘:-l[,"_fl
Options :
70819157021, ~ P ¥4



— A
70819157022. P~q

P
70819157023. P4

70819157024, P/~ 4

Question Number : 67 Question Id : 70819117290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equatmnq {Asz B2A%) X=0, where X is a 3 x 1 column
matrix of m'lknnwn variables and O is a 3 X1 null matrix, has :

Options :

70819157025, 1o solution

70819157026. a unique solution

70819157027, exacLE}f two solutions

70819157028. infinitely many solutions

Question Number : 67 Question Id : 70819117290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A, B eramuar 3x3 auflens 2 enLw G o puiysamersd Ceraml enflger. idle
A eramuig) Fw&ST sjenfl B erenug erHli FnFfi samflurgh. X erarug Gasflurg
rdlsemer GlEreaw 3x1 2 e w Blyed enfl, O eramug 3 x1 Hlred 2 evLw LFsluw
<jamfl erafléd, (AZB2—B2A2) X=0 eramp CpAlwe Fweur’(f GsmEldnE



Options :

TGl T (3o GED.
70819157025, DTS Gdae

G , &irey Wi (A Slen_&@ LD,
70819157026, BCT B Sifey LLED AL e

@rant(h Sreyser lenl&@Lb.
70819157027, gilwurs @ren(h Sreusar $lenl &@h

cramtenflen_fi&r Sieyser $lenl &@w0.
70819157028. : =

Question Number : 68 Question Id : 70819117291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f"(2—x) for all
x e (0,2), f(0)=1 and f(2)= 2. Then the value of jf{x} dxis:

L
Options :

o i
70819157029, 1 —€°

2
70819157030, 1 T €

>
70819157031, =1 +e%)

P
70819157032, 21 ~¢7)

Question Number : 68 Question Id : 70819117291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



eréveor x € (0, 2) -&@, f(x)=f(2—x) erameurmbd f(0)=1, f(2)=e? eranLa@cUHEND
Bleoma] Geywrmb 2 e w eumsambuid G558 Friy f(x) @en Gleuafl [0, 2] -ar

Bg1 euenmumssin Hereng). @UGLTips ]f{x] dx -t &L :
L]

Options :
70819157029, 1€

2
70819157030, 1 T¢€

x
70819157031, 21 +¢7)

e
70819157032, =17 ¢7)

Question Number : 69 Question Id : 70819117292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let [ be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

(: (¢
f(x)z0forallx e R. If j’::; “;’”{:}) = 0, for all x € R, then the value of f(1) lies in the
(x (x
interval :
Options :
70819157033. £)
70819157034. o

70819157035, & 9)



(9, 12)
70819157036.

Question Number : 69 Question Id : 70819117292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
sTeveom x € R -&@ fi0)=1, f(0)=2 wHmid f'(x) # 0 eTemmeurm f erenm @E)(HLpEHM

euasliL 5555 #riiy R -6 euanywumssIL L (Hemeng).
‘.Hx) )
f) fx)

Options :

=0, vV x € Reraflé, f(1) siemwybd @enGleuafl :

70819157033. o)

3 &
70819157034. )

70819157035. (6 9)

(9, 12)
70819157036

Question Number : 70 Question Id : 70819117293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y=ax?+bx +¢, x € R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :
70819157037. a=1, b=1,¢=0

70819157038, @=1, b=0, c=1



70819157039 &= ~ L b=1,c=1

siei="1

a=l,h~=l
2 2

70819157040.

Question Number : 70 Question Id : 70819117293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y=ax?+bx+c, x € R eranm euenaemeueny (1, 2) eremm Uematl eudlwing Glaemm, <y, Hlulle
2&M& euanrwiu L CgsrhGar(h y=x eraile, a, b, ¢ -saflan Al g er

Options :

70819157037. @=1, b=1,¢c=0

a=1, b=0, c=1

70819157038.
70819157039, = ~ 1 b=1,¢c=1
1 1
a= = b ey C = 1
70819157040. 2 2

Question Number : 71 Question Id : 70819117294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f n=21is a positive integer, then the sum of the series
", +2(2C,+ I, + 0, +...+ UG, )is:
Options :
n(n—1)(2n+1)
70819157041, 6




n(n + 1) (2n + 1)
b6

70819157042.

.11{211 +1)(3n +1)
b

70819157043.

.n{n I 'l]z(n + 2)
12

70819157044.

Question Number : 71 Question Id : 70819117294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. . - (2 :
n=2 eramgl ¢p(h Wlens (Lp(Lp eTamT eTeufle, ”+1C2+ 2( G, 3C2 an 4(:2 Baaict: ”CE] T a1
Clgmfler smpse

Options :
n(n—1)(2n+1)

70819157041. 6

.n{n +1) (2n + 1)
6

70819157042.

.11(211 +1)(3n +1)
b

70819157043.

.n(n I 'l]z(n + 2)
12

70819157044.



Question Number : 72 Question Id : 70819117295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations :

x—2y=1, x—y+kz=—-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2,

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct ?
Options :

70819157045, ) and (D) only

70819157046, (/) and (E) only

(C) and (D) only
70819157047. J

70819157048, (©) and (E) only

Question Number : 72 Question Id : 70819117295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



x=2y=1, x—y+kz=-2, ky+4z=6, ke R eraim Crflwé swearur(hseilen Csm@leau
Ll EpssaTL sahndsaer LmiiGUTLD.

(A) kz2, kz—-2eraflled Qsr@gling @Cr m Siey 2 amr(.

(B) k= -2, erafléd Qarglulng @Cr em Siey 2 (.

(C) k=2, erafleb AsrELlnE @Cr em Sia| o am(.

(D) k=2 craflé Qam@liLss s Sieyd @dana.

(E) kz -2 erafled Car@lyse ereamrantnm Sia| o awr(h.

SpssanTeneugafled erg 2 ewTemLd ?

Options :

70819157045, (A) LD (D) L0

70819157046, () LD (E) LG

10819157047, & OB (D) 0L (LD

1081915704, (&) LLODID (E) LG

Question Number : 73 Question Id : 70819117296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f:R — R be defined as
55x, ifx<—5
f(x) = {2x°~ 32— 120z, if -5< x<4
227 — 332~ 36x — 336, if x >4,

Let A = {x e R: fis increasing}. Then A is equal to :
Options :



70819157049, (%, =) W (4, =)

70819157050, (3, —4) v (4, =)

70819157051, (— %, =9 W (—4, =)

70819157052, (72 %)

Question Number : 73 Question Id : 70819117296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

f:R— R eTemm & :

55x, x < — 5 erafléd
f(x) = {223~ 322 120z, 5< x < 4erafléd
253~ 3¢2— 36x — 336, x > 4 erailey

GTETMELTT GUEnTWMSSELLHE DS
A ={xe R:feramug s &riry} erafléd, A =
Options :

70819157049, (— %+ =) W (4, =)

70819157050, (—2 —4) v (4, =)

70819157051, (— ©, ~9) v (—4, =)

70819157052 (2 *)



Question Number : 74 Question Id : 70819117297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

; 1 -1 V63
A possible value of tan( —sin ' —] is
4 8

.,

Options :

70819157053, V7

70819157054.

70819157055.

70819157056, 22 — 1

Question Number : 74 Question Id : 70819117297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

b snil@] = . .
tan| —sin® —— | -&(@& awTLTam (M WHLLY :
3 5 (T LD;

4
Options :

1
70819157053, V7

1\

3
<_
3

70819157054.



JE—1

70819157055.

70819157056, 22 — 1

Question Number : 75 Question Id : 70819117298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(0°. After a flight of
20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :

70819157057, 360043 m

70819157058, 24004/3 m

. 3
70819157059, 10UV m

70819157060, 1200V 3 m

Question Number : 75 Question Id : 70819117298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

genrulled A eremm Uerefluledlmba e Gl eflwrangdlen emm&CarenTd 60° <y, @Lb.
Qe eflrand 432 &5/ wenfl eramm Ceusddldr uPEEGL Gur@pg 20 aflBmigdEL
@ ssar gon&GCareamn 30° -wrs wrpdlng. ol afwrard Gr cwrsdlea
LIMBSHTE), HSHET 2 WIFLD

Options :



» <18
70819157057. %m\,f_

' 8
70819157058. 24[]{]\5

' 8
70819157059, 18003

' S
70819157060. 1200v3

Question Number : 76 Question Id : 70819117299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; + } + ,f;] =1 and ;(; - 2}] = — 2, and the point (1, 0, 2) is :
Options :
r\3i+7]+3k)=7
70819157061.

r-i |?}|3k)=?
70819157062.

7
70819157063, 3

._t
=T
=]
L———
%]
Fal
[l

7
70819157064 3



Question Number : 76 Question Id : 70819117299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

——

(1,0, 2) eremmm Yeafl euflwirgeayid I:(; + } i ;2] — 1 LOHMILD r(; e 2}} = — 9 GTeum
gerhi&seT Geuligd Caremend Carlh euPlwrsad Glaawebd, serddlen Foemm(

Options :

r-\3i+7j+3k)=7
70819157061

r(i47543k)=7

70819157062.
rli-7j+3k)=2
70819157063. 3
rlein aak)-L
70819157064 3

Question Number : 77 Question Id : 70819117300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the statements p and g, consider the following compound statements :

(@ (~gqr(p—q)—-~p

® (Pva)Ar~p)—q

Then which of the following statements is correct ?

Options :
70819157065, (a) is a tautology but not (b).

70819157066 (b) is a tautology but not (a).



70819157067, (@) and (b) both are tautologies.

70819157068, (@) and (b) both are not tautologies.

Question Number : 77 Question Id : 70819117300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

p. q eTemm dmpmiEmard CaraL Epsseam, sl (W& sbmnsamer LrflGurD

(@) (galp—q)—=~p

(b) (pvad~r-~p)—q

S pEseTL eThs Fmpm &#fl ?

Options :
20819157065, (@) ETELIZ) Glowiod perre (b) @aene.

70819157066 (b) ererug G parred (a) @dena.

i MIMiL et in N -
70819157067, @) LD (b) @ram(Hin Gwwioib.

20819157068, (@) () @remmbi Godien Gldane.

Question Number : 78 Question Id : 70819117301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



If a curve y=f(x) passes through the point (1, 2) and satisfies x% by = bx*, then for

y 62
what value of b, Ij‘f{x}dx = ? ?
Options :
70819157069. s
31
70819157070.

70819157071, 2

70819157072, 2

Question Number : 78 Question Id : 70819117301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=f(x) eraim euenereueny (1, 2) eremrm LeTeril euLluirgeyid, x% by = bx* eremm

euan&&0l&(pF Fwarurlen Hlenme| Cleusrseayd @(mBST, b -6 6Ths WHLULEMHE

62

2
_.‘f(x}d#‘f:E GTE <B|EMLDWL|LD ?
i

Options :

10
70819157069.



70819157070.

70819157071, °

62

70819157072, °

Question Number : 79 Question Id : 70819117302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :

o

4]
X

70819157073.

70819157074. =

70819157075. =

r»g]| ]

70819157076.

Question Number : 79 Question Id : 70819117302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



goelmily wpennulled {1, 2, 3, 4, 5} -ann @raw® o L savmsamer Gsire) 6lFliuyb
Qurpgl, seneusailen Geul (H&sangdler Fflwrg @rew(h o muiLsseT WL (HID GH&Es
Bapsso

Options :

70819157073, 2

70819157074.

70819157075.

35
70819157076, 2

Question Number : 80 Question Id : 70819117303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the region : R = {(x, y) : 522 = y = 2x2+ 9} is :
Options :

3 = it
70819157077. 6ﬁ "'quElI'E} unils
20819157078, V3 square units

1143 ¢ its
70819157079. 1143 square units



12 sguare units
70819157080. l"ﬁ 9

Question Number : 80 Question Id : 70819117303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R = {(x, y) : 522 < y = 222 +9} eranm L@Suler Ly

Options :

: |'|'_ & | .,*_-1" ."L':.z&"la:_\ez-.
70819157077, OV3 FEIT SAQE

0.7 & D|ENEESET
70819157078, V3 T8I =HHADE

1 FEIT |G SH6IT
70819157079, 11V3 TSI <SG

= ; _ Lk
172 & =2 G (S BEIT
70819157080, 12V3 FIT APE

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mathematics Section B

708191693
6

Online
Mandatory
10

5

20

Yes

1
708191973
Yes



Question Number : 81 Question Id : 70819117304 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum
possible value of k is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 81 Question Id : 70819117304 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10 @wed erewrager 1, 1, 1, ..., 1, k -Gaeflen eflavdseuids srrafl 10 -m el @Henmey
erantléd, k - & Lﬁu'ﬂu(_rg; ol L1y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117305 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (=5, 0). If the locus of the point P is a circle of radius r, then 4rl is equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117305 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

P eremmm Lemertlé@, P -uldablmig (5, 0) -&@ @eanLiul L girb, P -ulellmmg (—5,0) -5
@enL_Liul L grseng GUire apeam L IkIE erermeurm o areng). P -an Blumnlurens
r <D, TAPETET e el Lib erafléd 412 -am iy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819117306 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)>+ (y— 3)2=25 at the point (5, 7) is A, then 24 A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 83 Question Id : 70819117306 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5, 7) ereorm UaTtefluldled (x =212+ (y—3)2=25 eretm cul L &S 0H@E cuenrhs GE&THGET(R,
3, 7) m Ldrerf] 20+ (y—3)*=2 0 G bg CrHCsTH
CQeaGar(p woHmb Wens x -6 ghubisSu wpsGaramsdler Lrliuetay A ereafle,
24A -em UL

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819117307 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(14 i3) (14 iB)

T ' (us}'

Let i=~—1.1f

55— = ks and n=[|k| ] be the greatest integral part

n+5 5 n+5
of |k|. Then ZZ;(! + 5) Z}(j +5) is equal to
f =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001



Question Number : 84 Question Id : 70819117307 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(~1+ i3)" (14 i3)"

§ o= ﬁ \ oF | — kwom n=[|k|] eremug |k| -@m efl
(1- i) (1+ 1)
n+5 9 n+b
NepstiuLrg Wens wpp eramr erafled, D (j+5)" = ) (j+5) -en iy
=0 J=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117308 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students Sy, S, ...., Sy are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117308 Question Type : SA
Correct Marks : 4 Wrong Marks : 0



S, S, ..vu Sy ETETM LOTEWTEUTSEET A, B, C eremm epennm @ (Lpssatled epeubleumm @paileyb
GE@MmbH&SLLFID ¢(F rameuareugl @(mhg C -6 SlSULFIDTE pPEITT) LDTET 6L THET
G(m&@Wwrm senwb, iorgs @phsailar eramantlsms

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819117309 Question Type : SA
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Ifata=1,b+p=2and af(x) 4 m_,f'[iJ = bx 4 E, x # 0, then the value of the expression
= :
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Let A be an integer. If the shortest distance between the lines x — A= Zl.r— 1=—-27 and

=
N7 i )
x=y+2h=z—NAis — _then the value of || is
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6
The sum of first four terms of a geometric progression (G.FP.) is 12 and the sum of their

respective reciprocals is E [f the product of first three terms of the G.P. is 1, and the third

term is «, then 2o is
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The number of the real roots of the equation (x +1)%+ |x—5|= If is
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